Load Tables Notes to Designer

Example (Use of Load Tables)

DR6-75 Wall Cladding (Imperial)
(Low Importance Category
LLF = 1.5 and I, = I5 = 0.9, whichis conservative)

Given:
Double span continuous,
L =42 in. each span
Deck thickness, t = 0.018 in.
L/240 deflection limit
Bearing length, N = 2 in.
Wind live load, LL = 46 psf

The Live Load is the value of the
boxed-in portion of the specified
wind load expression [1].

Solution:

Strength “S”
1) Specified loads = 46 psf
2) Maximum specified load (from
Load Table) is 51 psf
Since 51> 46 ..0K

Check web crippling (N = 2in.)
End reaction =

0.375(46)3.5 = 60.4 Ib/ft

(from section property table)
Po = Pgq + Pgy IN/L]™

= 61.7 + 15.4(2/0.018] "

= 224 |b/ft

Since 224 > 60.4 ..0K

Interior reaction =
1.25(46)3.5 = 201 Ib/ft

(from section property table)
Pi = Pi1 + Pi2 [N/t]”2

=121 + 20.6[2/0.018]"

=338 Ib/ft

Since 338 > 201 .-.0K

Deflection “D”
From table L/180 = 99 psf
For L/240, multiply 99 by 180/240
=743 psf
Since 74.3 > 46 ..0K




